No.1

FHAEE BHESEEREFREAEREHR—IHEE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z
BFVUTILAAL] 1 | BEREER < ® > 5 6i42:i38 | 2i05i21 4:22:36
No. 2 |HEIXSKR < &% > 4 6:31:47| 1:58:i62 | 4:13:69
1 [FEAH 3 | EFEEKR < HAE > 2 6:06:64 | 1:52:09( 3i57:78
6A5H(H) 4 | HEIESKR < WR > 1 5:59:117 | 1:49:79 | 3:52:86
8:30 5 |HEIXSKR < HH > 6 6i51i27 | 2i07i89 | 4i27i41
LMY 1A 6 | EAEK < EF >3 6:25:i47 | 2:06:00 | 4:16:85
BFUTLRAL 1 | BEIESK < dtF > 6 7:15i22 | 2:18:i42 | 4:45:03
No. 2 |HEIXSR < EE D> 4 6:32:13 | 2:09:i41 4:19:76
2 | FEBH 3 | ERER <> 6:08it11 1:56i49 | 4i00:74
6A5H(H) 4 | EHEEK < WmH > 2 6:15:38 | 2:00:70 [ 4:07:33
8:38 5 | EAEK < Mt > 3 6:26:03 | 2:i06:i22 | 4:15:87
EBY 1 g 6 | HEIXSKR < EE > 5 6:33:08 | 2:01:07 | 4:14:23
BRIUFLZAL] 1 | BEEESK < HEE | E iy
No. 2 | EEER < FA S| E i
3 [FECH 3 | BHESERK GENIN > 3 6:15:41 1:57:i74 | 4i05:21
6A5H(H) 4 | BEER < AR > 6:04:26 1:59:07 | 4:04:86
8:46 5 | HEIESR < /ME S| 2 6i05i46 | 1i54i25 | 3i57:i88
EHBY 1 g 6 | BEHESK < HEW D> 4 7:05:37 | 2:18:82 | 4:39:25
TFUTIVAAIL] 1 | EAER < K& >| b 7:18:96 | 2:19:i77 | 4:51:83
No. 2 | EAEK < —# > 3 7:16:60 | 2:19:59 | 4:47:37
4 [FEAH 3 | BHESERK CHEF | 6i40i96 | 2:06:57 | 4i21:06
6A5H(H) 4 | HEIEXSK < kA >| 2 7:08:95 | 2:14:56 | 4:38:64
8:54 5 | ERER < tE > 4 7:17:75 | 2:21:06 | 4i50:21
ENY 2/ | 6 | EFEH < HIE >| E Firi
BFVTILAAL| 1 | BEEEK <IN D E iy
No. 2 | EAEK < A% > 3 7:02:56 | 2:15:71 4:39:74
5 |F:#B#H 3 | EAEK INEFED| T 6:39:92 | 2:05:i62 | 4:21:55
6A5H8(H) 4 | EHEK < BB S| 2 6:56:66 | 2:15:89 | 4:37:89
9:02 5 | ERER < WA > 4 7:23i03 | 2i25i54 | 4i56i21
LAY 2/\a 6
BFATILRAIL| 1
No. 2 | IEIEERKC 3 5:51:97 | 1:52:63 | 3:52:92
6 [T EAM 3 | HEIEESKA 1 5i24i15 | 1:40i89  3i29i53
6A5H(H) 4 | BEEFEEK 2 5:33:57 | 1:43:85 | 3:36:73
9:10 5 | ERXESKB 4 5:57i53 | 1:54i85 | 3:56:96
EAY 2/Na 6
BFATILRAIL| 1
No. 2 | HEIESKB 2 5:43:17 5 3:42:78
7 | F:EBHH 3 | ERESKA 1 5:33:i16 I 3i37i04
6A5H(H) 4 | EAEK 3 5:48:86 N 3:48:18
9:18 5 | BT E£EHD 4 | 5:54i01 BE 3:53:89
EAY 2/\a 6




No.2

FHAEE BHESEEREFREAEREHR—IHEE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z
TFATILAAIIL| 1
No. 2 | ERER 2 6:17:22 | 2:00:07 | 4:08:60
8 |k I 3 | EAEKA 1 5i55i57 | 1:52:88 | 3:53:18
6A5H(H) 4 | BEEREREK 3 6:26:59 | 2:05:32 | 4:16:16
9:26 5 | EAEKB 4 6i30i74 | 2:10i44 | 4:20:77
— 6
BFREFEAILELTIL] 1
No. 2 | BEEER 3 5:35:83 | 1:48:36 | 3:42:47 5L—>
9 |IREE I 3 | HEIXERK 2 5i10i16 | 1:38:i74 | 3i22:i57 |[FyKHT Ak
6H5H(B) | 4 | £AEK 1| 5:03i20| 1:36i93| 3i17i54 |BITEND
9:34 5 | BEEK ZZ\ =& . B&ot
- 6
TFREFMAFIFRLTIL| 1
No. 2
10 [REE 1 3 | EHER 2 6:12:47 | 1:57:57 | 4:06:03
6A5H(H) 4 | EHAEK 1 5:45:15 | 1:49:56 [ 3:46:93
9:42 5
- 6
BFUTLRALl 1 | BHEIESK < dtft > 4 | 4i51i36| 2i23i82
No. 2 | HEIXSKR < 58 > 3 4:29:42 | 2:06:99
11 |BEDsE 3 | sBEITESE < IME |1 4:18i28 | 2i02i19 1000mL—X
6A5H(H) 4 | EHEK < TrF > 2 4:23:16 | 2:09:67
11:00 5 | BHESK CEW > 5 4:55:39 | 2i24:i15
EAY 1N g 6
BFOUTLRAL| 1
No. 2 | HEIXSER < BEBA D> 2 4:24:07 | 2:11:27
12 (FR1EE#E 3 | BREER <A > 1| 4:07:84| 1:58i42 1000mL—2
6A5H8(H) 4 | EHEK < EF >3 4:26:09| 2:12:70
11:05 5 |#EIXER < HB > 4| 4:36i00| 2i13i53
EAY 1A 6
BFUTILRAIL| A
No. 2 | BHEIXZES®R < LEIE > 3 4:25:77 | 2:09:83
13 | R fEF#E 3 | EREEKR < WmH > 2 4:14:66 | 2i06i25
e - 1000mL—X
6A5H(H) 4 | BFEEREK =3 11 I I 4:11:79 | 2:03:10
11:10 5 | EEEEK < R > 4 4:33:17 | 2i11i22
EAY 1N g 6
TFOUTLRAL| 1 | BEEER < WA > 5 | 5:05:i85| 2:29:i49
No. 2 | EEREER <A > 3 4:56:83 | 2:25:i73
14 |ER{EC#H 3 | EAEK < dLEF > 1 4:45:17 | 2:20:20
= 1000mL—X
6H5H (H) 4 | EAERK < —# > 4| 5:03i43| 2:28:i70
11:15 5 | EAEK < KEE > 2| 4:54i73 | 2i25:36
EAY 2/\a 6




No.3

2 = =g thtk = — kB35
SHAEE EHESEFEFREZFLEEREFRER—IHEEE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z
BFLTILAAL| 1
No. 2 | HEIZESKD 4 | 4i08i62 | 2i02i70
15 |BRfEC#A 3 %75.%#32_ " 1 3i59i30 | 1:54:i85 1000mL—=
6A58(A) 4 | HEIESKC 2 3i59i84 | 1:56:54
11:20 5 | EEEERB 3 | 4:05i25| 1:58:74
EMY 2/ng 6




No.4

FHAEE BHESEEREFREAEREHR—IHEE
L=y JIL—4% EIE|  3-nsqL 500m LAP 1000m LAP &z
ZFREFAFIFRLTIL| 1
No. 2
16 |iRfE O 3 | EAEK 1 5i19:52 [ 1:45:85 | 3:33:06
6A5H(H) 4 | BEERER 2 5:47:11 1:52:69 | 3:51:07
16:30 5
— 6
BFREFEAILELTIL] 1
No. 2 | EREEKR 3 5:18:00 | 1:44:39 | 3:33:46
17 |RBg T 3 | £HEK 1| 4144169 | 1i33i37| 3i09i30 ilg;&—%*' 4
6A5H(H) | 4 | ABTXEHK 2| a 58 s 13T 28 | 31850 |5 S
16:38 5 | EFEERA-7V. OP| 5:21:39| 1:44:25| 3:33:88
— 6
ZFFTILAAIL| 1
No. 2 | BHEER 3 6:05:35 | 2:01:93( 4:04:08
18 [iRfg O 3 | EAEKA 1 5:38:i32 | 1:52:09 | 3:46:08
6A5H(H) 4 | BEER 2 5:56:91 1:58:52 | 3:58:51
16:46 5 | EAEKB 4 6i17i26 | 2i06i17 | 4i13:i63
— 6
BFATILRAAIL| 1 | EAER 5 5:23i17 | 1:42:88 | 3:33:55
No. 2 | BEER 2 5:04:95 (| 1:38:70 | 3:23:69
19 [RE% 3 | HEIXEKRA 1 5i01i99 | 1i36i56 | 3i19:i72
6A5H(H) 4 | BEFEEREKA 4 5:13i62 | 1:41:16 | 3:28:68
16:54 5 | i BIT%E#B 3 | 5i12i46 | 1:41i88 | 3:26:68
— 6 | HEIXSKC 6 5:38:27 | 1:48:51 3:45:11
TFUTIVAAIL) 1 | EAER < Jb%F > 4 6i31i69 | 2:09:10 | 4i19:01
No. 2 | EAEK < BB > 3 6:25:82 | 2:04:54 | 4:13:97
20 |iRB% 3 | EAEK INEFTF | 2 6:14:97 | 1:59:28 | 4:07:15
6A5H8(H) 4 | EEEREK < EEF D 6:06:97 | 1:59:72 | 4:03:53
17:02 5 | MEIXSK < fkHE > 5 6:48i43 | 2i09i65 | 4i29i61
- 6 | EAEK < K& >| 6 6:50:32 | 2:14:10 | 4:33:06
BFUTNLAAL] 1 | BEREEK I > 5 5:49:56 [ 1:50:i26 [ 3:50:88
No. 2 | EEREER <> 5:31:45 | 1:45:73 | 3:41:09
21 |iRB% 3 | HEIXZES®R < WR > 2 5i32i37 | 1:44i79 3i38i72
6A5H(H) 4 | BEEFEEK <R > 6 5:58:10 | 1:52:29 3:56:95
17:10 5 | EEEEK < WA > 3 5:34:i57 | 1:43i70 | 3:38:i17
— 6 | HEIXSR < /ME > 4 5:46:56 | 1:45:01 3:41:79
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XEEEEL—RIF1000mDIEEETERT S,




